WASre:

Online

Parts Catalog - Option Detail

Option

Group Graphic Film Card Date

EG9052

15.08 e€g900g;j T 15-APR-87

Engines

4B3.9, 6A3.4, 6B5.9, B GAS INTERNATIONAL CM556, B4.5, B4.5 CM2350 B129B, B4.5 CM2350 B146C, B4.5
CM2350 B147B, B4.5 RGT, B4.5S, B5.9 G, B5.9 GAS PLUS CM556, B5.9 LPG, B5.9 LPG PLUS CM556, B6.7 CM2350
B121B, B6.7 CM2350 B135B, B6.7 CM2350 B136C, B6.7 CM2350 B148B, B6.7 G CMOH6.0 B125, B6.7N CM2380
B150B, B6.7S, F3.8 CM2350 F120B, F3.8 CM2350 F128C, F3.8 CM2350 F132B, F3.8 F102, G3.9, G5.9, G5.9

CM558, ISB (CHRYSLER), ISB CM2150, ISB CM2150 E, ISB CM550, ISB CM850, ISB/ISD4.5 CM2150

B119, ISB/ISD4.5 CM2150 SN, ISB/ISD6.7 CM2150 B120, ISB/ISD6.7 CM2150 SN, ISB/ISD6.7 CM2880 B126, ISB3.9
CM2220 B107, ISB4.5 CM2150, ISB5.9G CM2180, ISB6.7 2010 DCX PICKUP, 1ISB6.7 2013 DCX CHASSIS

CAB, I1ISB6.7 CM2150 SQ, ISB6.7 CM2250, ISB6.7 CM2350 B101, ISB6.7 CM2350 B103, ISB6.7 CM2350 B142, ISB6.7
CM2670 B153B, 1SB6.7 G CM2180 B118, ISBE CM2150, ISBE CM800, ISBE2/ISBE3 CM850, ISBE4 CM850, ISD4.5
CM2150, ISD6.7 CM2880 D101, ISF2.8 CM2220, ISF2.8 CM2220 AN, ISF2.8 CM2220 EC, ISF2.8 CM2220

ECF2, ISF2.8 CM2220 F101, ISF2.8 CM2220 F117, ISF2.8 CM2220 F122, ISF2.8 CM2220 F126, ISF2.8 CM2220
F129, ISF2.8 CM2220 IAN, ISF3.8 CM2220, ISF3.8 CM2220 AN, ISF3.8 CM2220 F103, ISF3.8 CM2220 F110, ISF3.8
CM2220 F116, ISF3.8 CM2220 F134B, ISF3.8 CM2220 IAN, ISF3.8 CM2350 F109, ISF4.5 CM2220 F123, ISG11
CM2880 G106, ISG11 CM2880 G108, ISG12 CM2880 G107, ISG12 CM2880 G109, ISG12 G CMOH6.0 G111, QSB3.9
30 CM550, QSB3.9 CM2880 B138, QSB4.5 30 CM550, QSB4.5 CM2150 B108, QSB4.5 CM2250 B131, QSB4.5
CM2250 EC, QSB4.5 CM2350 B106, QSB4.5 CM2350 B122



https://qsservices.cummins.com/qshd/feedback.php?productid=1

SMALL | MEDIUM | LARGE

View My Cart

EG9052

Engine Instrument Panel

Instrument panel enclosure...(More)

to face to left side of

engine. Does not include

complete engine wiring,

enclosure includes the

following; panel, cabinet,

gauges, tach. hourmeter,

speed switch, terminal block

rectifier bridge and necessar



javascript:swap_img('eg900gj','/rtgraphics/english/parts/eg/9/eg900gj_sm.png');
javascript:swap_img('eg900gj','/rtgraphics/english/parts/eg/9/eg900gj_md.png');
javascript:swap_img('eg900gj','/rtgraphics/english/parts/eg/9/eg900gj_lg.png');

wiring to quick disconnect

plugs. Wiring diagram 3911868

1 3033800 Plain Washer 3/8 in.

2 3039524 Magnetic Pickup

3 3035083 Vibration Isolator

4 3035084 Vibration Isolator

5 3053012 Instrument Panel Bracket

6 3175239 Lock Nut

7 3903990 Hexagon Flange Head Cap Screw M10 X 1.50 X 20.
8 3901249 Hexagon Flange Head Cap Screw M12 X 1.75 X 25.
9 3278425 Regular Hexagon Nut M6 x 1.00

10 3911844 Instrument Panel Brace

11 3911846 Instrument Panel Bracket

12 3911868 Engine Wiring System

13 3911889 Dataplate

14 3920313 Instrument Panel



https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

